Test: 2018 Primary 2 - Term 3 (CA2) Math (Nan Hua)
Points: 40 points

Name: Score:

Date:

Signature:

Select multiple choice answers with a cross or tick:
Only select one answer

Can select multiple answers

Question 1 of 31 Primary 2 Math (Term 3)

TERM 3 PAPER 1

A. Read the instructions and answer the questions carefully. (1 mark each)

3+3+3+3+3+43+3= groups of 3

Question 2 of 31 Primary 2 Math (Term 3)
27 +3 =

Question 3 of 31 Primary 2 Math (Term 3)

9x4=

1 pt

1 pt



Question 4 of 31

x4 =28

Question 5 of 31

3x4= X3

Question 6 of 31

x4=3x8

Question 7 of 31

32+4=

Question 8 of 31

+4=5

Question 9 of 31

Primary 2 Math (Term 3)

Primary 2 Math (Term 3)

Primary 2 Math (Term 3)

Primary 2 Math (Term 3)

Primary 2 Math (Term 3)

Primary 2 Math (Term 3)

B. Fill in the blanks with the correct answers. (Total 6 marks)

a) + 475 =789

1 pt

1 pt

1 pt

1 pt

1 pt



Question 10 of 31 Primary 2 Math (Term 3) 1 pt

b) 138 + 63 =

Question 11 of 31 Primary 2 Math (Term 3) 2 pts

Find the missing number.

X 3 12

* x -




Question 12 of 31 Primary 2 Math (Term 3) 1 pt

The picture below shows 6 groups of ice-cream cones.

a) Write a division equation for the picture below.

A) 6:3=2
B) 15+3=5
C) 18+2=9
D) 18+6=3



Question 13 of 31 Primary 2 Math (Term 3)

The picture below shows 6 groups of ice-cream cones.

b) Complete the sentence.

C
Ret

Each group has ice-cream cones.

Question 14 of 31 Primary 2 Math (Term 3)

C. Read the following word problems carefully.
Complete the answer statements. (3 marks each)

Mary bought 5 boxes of pencils.
There were 3 pencils in each box.
How many pencils did she buy altogether?

Question 15 of 31 Primary 2 Math (Term 3)

There are 242 children at a fun fair.
There are 97 more adults than children.
How many people are there at the fun fair altogether?

1 pt

3 pts

3 pts



Question 16 of 31

TERM 3 PAPER 2

Primary 2 Math (Term 3)

A. Read the instructions and answer the questions carefully. (1 mark each)

Count and write the correct amount.

1 pt

Question 17 of 31

Bala spends $2.60.

$2.60 is dollars and

A) 2 dollars and 6 cents

B) 2 dollars and 60 cents
C) 26 dollars and 0 cents
D) 0 dollars and 60 cents

Question 18 of 31

165¢ = $

cents.

Primary 2 Math (Term 3)

Primary 2 Math (Term 3)

1 pt



Question 19 of 31

Arrange the following items in order.
Begin with the cheapest item.

cheapest

A) Doll, Book, Cap
B) Doll, Cap, Book
C) Book, Cap, Doll
D) Cap, Doll, Book

Question 20 of 31

Primary 2 Math (Term 3)

1 pt

Cap
$18

Primary 2 Math (Term 3)

Toy boat

$16

$23

How much cheaper is the toy car than the toy boat?

The toy caris $ cheaper than the toy boat.

1 pt



Question 21 of 31 Primary 2 Math (Term 3) 1 pt

Choose the shapes that you can find in the figure below.

Shapes

00 _
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A) Circle
B) Semicircle

C) Quarter circle

Question 22 of 31 Primary 2 Math (Term 3) 1 pt

The picture below is formed by joining quarter circles.




Question 23 of 31 Primary 2 Math (Term 3) 1 pt

Look at the figures below.

Choose the figure(s) that are made up of both straight lines and curves.
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Question 24 of 31 Primary 2 Math (Term 3) 1 pt

What 3D shape is the brick shown below?

A) Cone
B) Cuboid
C) Cylinder



Question 25 of 31 Primary 2 Math (Term 3) 1 pt

Which one of the following object is a sphere?




Question 26 of 31 Primary 2 Math (Term 3) 1 pt

The figure below is made up of cuboids and cones.

There are more cones than cuboids.



Question 27 of 31 Primary 2 Math (Term 3) 1 pt

Choose the set (A, B or C) that has the most amount of money?






A) SetA
B) SetB
C) SetC

Question 28 of 31

Match the objects to the correct amount of money.

Primary 2 Math (Term 3)

50¢ + 70¢

30¢ + 70¢

90¢ + 80¢

120¢ + 60 ¢

2 pts



Question 29 of 31 Primary 2 Math (Term 3) 2 pts

Study the pattern below carefully. (2 marks)

030 . 3053000

What is the missing shape in the above pattern?

CHE W,

A)

B)

C)

Question 30 of 31 Primary 2 Math (Term 3) 2 pts

Choose the solids that can roll. (2 marks)

A)

B)

C)

D)




Question 31 of 31 Primary 2 Math (Term 3) 2 pts

B. Read the following word problem carefully.
Write your answer statement. (2 marks)

The following picture shows the price of movie tickets.

Adult
Child

Mr. and Mrs. Lim took their 2 children to watch a movie.
How much did they pay altogether?



